| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

[72] (7]
g d
(&)
5 3
o 10° 2
£ 2107
X ()]
(&) C
O 3
- 2 D
10 o

=
o

10 i

1
QJ. .U _- ! ! ! ! : 9
ESI GAAeAnr At H T
14 H ! b b ! ! @ 15
B H
09—525 20 15 10 —5 O 5 10 15 20 25 —25 20 15 10 5 0 5 10 15 20 25
TP dxy (cm) TP dxy (cm)
—=— DQM_mkFit_baseline_lowPT
[ N of simulated trac —— DQM_mkFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT
8 S s T g
Q =
5 g
&1 2
X~ n
&) c
E o]
= )
@

10E:

S I L T s
--;-I I---I r”l”l- 11 r 11 1 1 r 11 1 1 I 1 I-::I::I::I-I-I--I- I--
9.]. VO 4 3 > .9 i : :
g g all
x (A1) A SO 11V ATV ! N
1 -4 4 :
°¥3° 20 -10 0 10 20 30 S 0 10050

TP dz (cm) TP dz (cm)



	Contents
	Page 1


